
18

17

8

2

4

19

11

9

14
20

7

21

16

12

3
6

1

5
15

10

13

ITEM NO. Article number PART NUMBER QTY.

1  005401 CW40-SPINDEL-HOUDER 1

2  004207 CW40-SPINDEL 1

3 005335 CW40-SPINDEL-PLAAT 1

4  005272 CW40-SPINDEL-BORGBOUT 1

5  004336 PRECISIE-BOUT M12X16F9X40 2

6  000060 CW40-SCHOTELVEER 4

7  004578 CW40-SPINDEL-SPIE 1

8  005481 CW40-SPINDEL-GELEIDER 2

9  001973 CW40-VEERHOUDER-SCHIJF 2

10  001970 CW40-SCHIJF 2

11  005325 CW40-SPINDEL-RING 2

ITEM NO. Article number PART NUMBER QTY.

12  004335 CW40-SPINDEL-BUS 1

13 005396 CW40-SPINDEL-KLEMRING 2

14 004205 CW40-SPINDEL-HOES 1

15  035995 VETNIPPEL-M6 2

16 015624 SEEGERRING-AS-40 1

17 001968 M16 x 50 8.8 2

18 005278 M20 x 40 8.8 2

19 037229 BORGMOER-M6 2

20 014915 Cil. inbusbout M6 x 40 8.8 2

21 011773 M12 x 40 8.8 4

THIS D
RA

W
IN

G
 IS O

UR PRO
PERTY. IT C

A
N

'T BE REPRO
D

UC
ED

 O
R C

O
M

M
UN

IC
A

TED
 W

ITHO
UT O

UR W
RITTEN

 A
G

REEM
EN

T.

DESCRIPTION: CW20-30-40 Spindel

GP Equipment BV
Titaniumstraat 10

6031 TV Nederweert
+31(0)495-745680

Info@gp-equipment.com


	Sheet1
	Drawing View1


